

Pay Estimate Created Date: July 1, 2024

Progress Estimate Number 5		Contract ID Prime Contracte		riod Start June 16, 2024 Origir riod End June 30, 2024 Net C Curre				\$1,019,987.72 \$0.00 \$1,019,987.72			
Approval Date									By User		
July 1, 2024 Generated and Approved (and should be considered Draft) at the Project Office								Project Office Level by	Level by sandis1		
July 1, 2024		Review	ed and Approve	ed (and shou	ıld be consi	dered Draft) at	t the Resid	ent Engineer Level by	sandis1		
July 2, 2024			Re	eviewed and	Approved a	at the Central (Office Cont	rollers Office Level by	ramses1		
Original Comple	Current Comp	letion Date	Actual	Completio	n Date	% of C	urrent Contract Amou	ent Contract Amount Complete			
November 1,	2024	November	1, 2024				60.94%				
	Contrac	t Informational Dat	es			Milestones					
Date Description	n Original	Completion Date	Current Comp	letion Date	No Miles	tones Exist for	Contract				
Acceptance Date					1						
Awarded Date	February	/ 14, 2024	February 14, 2	024							
Letting Date January 19, 202		19, 2024	January 19, 20	24							
Notice to Proceed Date April 1, 2024		2024	April 1, 2024								
Open to Traffic Date	9										
Work Began Date	April 24,	2024	April 24, 2024								

Contract Total Pay For Estimate No. 5 This Estimate Previous To Date 240119-C02 \$158,345.49 \$0.00 \$0.00 Total Posted Items Pay \$463,197.88 \$621,543.37 Gross Item Adjustments \$0.00 \$0.00 \$0.00 Incentive \$0.00 \$0.00 \$0.00 \$0.00 Disincentive Liquidated Damage Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$463,197.88 \$621,543.37 \$158,345.49

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description Unit Unit Price Current Current Installed Qty								
JKU0233	0020	6181000	MOBILIZATION	LS	\$140,000.000	0.183	\$25,620.00				
	00306205902A6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADSLF\$0.240266,162										
	0040	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.240	214,882	\$51,571.68				
	0050	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.790	21,867	\$17,274.93				
Project JKU0233 - Total											
Overall - Total											

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JKU0233	IS 70-1(224)	Pavement marking	I-70,I-35,I-29,I-49	JACKSON	main routes	and interchanges	
Totals by J	ob Number	s					
JKU0233				This	Estimate	Previous	To Date
		l Item Pay			3,345.49	\$463,197.88	\$621,543.37
	Gross	Item Adjustme		\$0.0		\$0.00	\$0.00
			Gross Item Pay	\$158	3,345.49	\$463,197.88	\$621,543.37
	Incenti	ve		\$0.0	0	\$0.00	\$0.00
	Disince			\$0.0		\$0.00	\$0.00
	Liquida	ated Damages		\$0.0	0	\$0.00	\$0.00
		Contract Adjus		\$0.0	0	\$0.00	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JKU0233, Item 6205902A, Project Item Line Number 0030, Material Set 6205902A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	No Remark was entered by Engineer	willic7	Overridden
Estimate Exception Type: Insufficient Materials: Project JKU0233, Item 6205903A, Project Item Line Number 0040, Material Set 6205903A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	No Remark was entered by Engineer	willic7	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generat

rated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240119-C02	JKU0233	0001	0010	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$13,000.00	\$6,500.00
		0001	0020	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.73	\$140,000.00	\$102,060.00
		0001	0030	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,719,611.00	0.00	1,719,611.00	LF	1,026,482.00	\$0.24	\$246,355.68
		0001	0040	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,338,180.00	0.00	1,338,180.00	LF	780,258.00	\$0.24	\$187,261.92
		0001	0050	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	163,947.00	0.00	163,947.00	LF	100,463.00	\$0.79	\$79,365.77
		0001	0060	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,698.00	0.00	2,698.00	LF	0.00	\$0.85	\$0.00
		0001	0070	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,537.00	0.00	1,537.00	LF	0.00	\$0.85	\$0.00
	Project J	KU0233 - To	otal Value	e Posted to D	Date as of Report Generated Date							\$621,543.37
240119-C02 Ove	erall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$621,543.37



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	6181000	MOBILIZATION	6/30/24	7/1/24	0.18	LS	Mobilization payment.					For 50% of contract completed mobilization payment
0030 6205902	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	6/18/24	6/28/24	102,414.00	LF	I-29 and ramps from I-29 log miles 18.639 NB/104.165 SB to 24.582 NB/110.108 SB.	18.639 NB/ 104.165 SB		24.582 NB/ 110.108 SB		
			6/20/24	6/28/24	67,752.00	LF	I-29 NB/SB to and from specified log miles.	24.582 NB/ 99.908 SB		28.83 NB/ 110.108 SB		
			6/21/24	6/28/24	86,820.00	LF	I-29 NB/SB from specified log miles.	28.817 NB/ 93.065 SB		35.672 NB/ 99.918 SB		
			6/26/24	6/28/24	120.00	LF	On ramp from 152 to I-35 south.					
				6/28/24	9,056.00	LF	I-29 and ramps to and from the log miles specified.	28.986 NB/ 93.064 SB		35.673 NB/ 99.749 SB		
0040 620590	6205903A	A 6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	6/18/24	6/28/24	62,984.00	LF	I-29 and ramps from I-29 log miles 18.639 NB/104.165 SB to 24.582 NB/110.108 SB.	18.639 NB/ 104.165 SB		24.582 NB/ 110.108 SB		
			6/20/24	6/28/24	72,948.00	LF	I-29 NB/SB to and from specified log miles.	24.582 NB/ 99.908 SB		28.83 NB/ 110.108 SB		
			6/21/24	6/28/24	69,507.00	LF	I-29 NB/SB from specified log miles.	28.817 NB/ 93.065 SB		35.672 NB/ 99.918 SB		
			6/26/24	6/28/24	2,454.00	LF	Parvin Road off and on ramp to I-35.					
				6/28/24	6,989.00	LF	I-29 and ramps to and from the log miles specified.	28.986 NB/ 93.064 SB		35.673 NB/ 99.749 SB		
0050 620590	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAINT	6/18/24	6/28/24	6,271.00	LF	I-29 and ramps from I-29 log miles 18.639 NB/104.165 SB to 24.582 NB/110.108 SB.	18.639 NB/ 104.165 SB		24.582 NB/ 110.108 SB		
			6/20/24	6/28/24	11,340.00	LF	I-29 NB/SB to and from specified log miles.	24.582 NB/ 99.908 SB		28.83 NB/ 110.108 SB		
			6/26/24	6/28/24	4,256.00	LF	I-29 and ramps to and from the log miles specified.	28.986 NB/ 93.064 SB		35.673 NB/ 99.749 SB		

<u>The information below this line are details for Construction Signs (if applicable).</u> No Data Available



Line Item Adjustments by Estimate

Jul 3, 2024

Contract ID: 240119-C02

No Data Available



There are no contract adjustments to display for this contract.